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PRINCIPAL FACTS FOR GRAVITY STATIONS IN THE BIG MARIA,

RIVERSIDE, AND WHIPPLE MOUNTAINS, CALIFORNIA

By Thomas B. Gage and Robert W. Simpson

Presented in table 1 are gravity stations obtained in March and April of

1980. An explanation of the headings for table 1 is as follows:

STATION IDENTIFICATION

LATITUDE
LONGITUDE

ELE

ST

OBSERVED GRAVIT

R = Riverside Mountains, BM = Big Maria Mountains,

W and GW = Whipple Mountains, RV = Rice Valley.

North latitude in degrees, minutes, and hundredths of minutes.
West longitude in degrees, minutes, and hundredths of minutes.

Elevation in feet (to convert to meters, multiply by 0.3048).

-~ Elevations were obtained by interpolating between contours

on topographic maps and by using stereopairs of aerial
photographs in a stereoptical device designed to give ™
elevations from properly registered overlapping aerial
photographs. We estimate from comparisons of the two
techniques that most of the stations have elevations accurate
to within + 20 feet (corresponding to an elevation correction
of + 1.2 milligals).

State, all in California.

Relative to a value of 979583.42 milligals at Parker,

Arizona. (Station site is located in Parker Municipal

Airport terminal building, on floor in corner next to
operations.office). Value is consistent with the International
Gravity Standardization Net of 1971 (Morelli, 1974). Relative
precision of observed gravity values is estimated to be

better than + 0.1 milligals.



THEORETICAL GRAVITY

TERRAIN CORRECTION

BOUGUER CORRECTION
CURVATURE CORRECTION
SPECIAL CORRECTION

FREE AIR ANOMALY

BOUGUER ANOMALY

Calculated using the Geodetic Reference System 1967
(International Association of Geodesy, 1971).

Terrain corrections have been calculated out to 166.7 km
from a station using a modifiqat%on of the terrain correction
program of Plouff (1977).

Simple Bouguer slab correction using a density of 2.67 g

per cm3.
Adjustment to Bouguer slab for curvature of earth (Lambert,

1930).

Not used.

Free air anomaly in milligals.

Bouguer anomaly in milligals calculated using densities of
2.67 g per em3 and 2.50 g per cem3? Estimated error for most
stations is thought to be on the order of + 2 milligals.
Stations with large terrain corrections may have larger errors.
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